F1eE TgE fawEE (Teis)
el oifufe JE0Es - was

R — shayw spfam—so
T —aoom Y —20

M i g Frsta

1 Hidw el o o sl wiam ot ¢ V"B B

3. oEfR AR —( e/ o/ WS/ TE) OTNDS OTETS (OB OO

s

3.2 Y AR ol (gre /s s [ et wiene | Het o))
k1

oo e *uiba Ay Roew s W — (TS [ e [ e [ )|
T

5.8 By ¥ o i Ro o sa e AR wimm— (6 B =/ T9) |

B
2. e eissfE AW Bea e ¢ yx8=8
&5 TS PN AW RIS I

g ]

weRr I T i Aem o
]

3,4 YT A i e i et
1

30 i Rowe o0 ¢ T
o

2.8 WAl - wwi F v fAowe
o

ol FRufiie e ol Tua e ¢ Snl =y
e.5 ¥R = RRT wire 4@ w ity R arEr

o e TRibeE o G G e S I
B

oy forcwst 8
weEl R =R ceeE f ome



Ae1a SrgE fawEr (Telz)
oSl AU TAE - 3048

s —wb sfui—a
frw —1om ¥y — oo S
L #firs et frmte
s Hfew Bl oo R ot ¢ X8 B
v,y ‘ogfe Rertmz, e AR el fres— (tewa et/ RSkt / et et
| S )|
Bt

3.4 "SI Cred A R — (e / W/ Fever et e/ e W)
-+

v.0 ST e ies B W (et /ot [ w8/ D))
%
5.8 YATE = (P+HE [ P | IS [ THIE)|

o
2. Tioew el =Y e Ten e Y4

8,5 "SI T 4 WS Goed T (T — O (7 r
]

2,3 A A e = H oreogr
B

o "G T AL, OV RS N (RET— W Y
i}

3,8 WATITT HOW ANPEF (I Grivtet qrafeatr
1

3¢ R afie v Rerifs ooiq e e gritefe we e
1]

3.0 Y Re =t : Faf
B

3.0 e e e JFe W oo =ide oo
T AT = eiiEe we ot
B



MY

o) il effr Seawre ¢ ey =8
0.5 “G% (TSl ARNE FITETH 6 IT — G TR Sl A WA G )

Yy SR SR RO @I T R A — F, (3 9 IR T PR
©s

ey  AET g F 1y (e

WYY T S SR @A, FR F0E e gt S
Lo

L f



A9 Erga fwiera (Tesis)
2e ciHESTEE TeEe - 1038

::-m oy —eo fifRt
Lo i Tt fram
s #fde Beail caoe Foy oot « Y= B
vy iR wR 3 ofE afleed SaleE O3 — (ARl St S )
B
%AW T i v e (SRRl o [ Wi e / e A/
FALH )|
LT

be AT ST S W wE (a0 [ 8ot [ wot [ bot) — WG AEE TN
B

5.8 CHRATD B =re Twige 0 — (re=ors [ wilprw [ bR/ )

H

2. e et wiE Aewe B me 1 3=
8.5 "W O AR AT T TR SRR e O TR A
wen iR oot e i i e it g — v A S e aanr

B

2,4, TR O A (RO W I CF T MO0e (01 SRR 1
T

a0 i e g wie Fiode ooe oot
weEt iR e e e et
17

3.8 oA - T wfiemece i core o
4}

%, O W T WA
B
30 SR WU TR S e S W

L

a0 o= i e S whe
et B g eniRfTee a0, e R o e F S R



AET-AYL)

ol FnfEfee edjem S e o X% =8
0.5 ‘fATem ey fw Wi SRI% T W 987 — (3, ST SRT TH GWAAL 5+
WA “e T, W R = A0 (I PR CTHCY, FIAL, Q FA IR (FAFIT
SR REd W WA IR 45

\H

0y Q3R ite — IR i, F e e
gt R e | — IR I R A0 TR WA AT
L}



ArEea wrge fawerd (Tawls)
o9 <rfuEfieE TEe - 2038

ouft —wn efaR—se
iy —wtomt aw —oo fifEh
L firs et et
y| Wiy Beal® e P oot yX8= 8
3.5 FT I um T e g (eaivew [ oeEiew [ T/
TR
T

3.q T o weoim ciee o =R oo (ETeE e orew |/ e
BT Ahen! / e I/ iR )
b

e T > e ot oof® (ifires / wam / Al R / smres o |
]

5.8 WoH-oIf W JW— (R 0 )

]
3l Trosw e = onrwre Tan we ¢ YX 4=y
3,3 e Fes A Badr - SR wher o

weE s R e e e
B

3,4 e wt e Ay
)

30 W - wieE ot Tww five Amfemat e
B

3.8 ey e com A fr
e A i e S A 3wy
B

2.¢ "Ry =<y wor Roie =@ e o T 8T 30 oitel
)

3, AR T o
ERE W S F QR



SHT-TM(Q)
a.a ‘cofca i ot #iim =i — By efamiboe it AT ol T9w I
B

ol eFRe e Sea e o XY =8
0. ITINSIT HYS” JoA! LA F ¢

g “wifi gene gt Tu = fm | o7 39l I e e 4+
B

0.y “ZTS ST gL AR Pt Sty 3t =R W I 3
gl IR R e F @R 3 FRre e
B2

~~



RAMNAGAR ATUL VIDYALAYA (H.5.)
First Summative Evaluation-2024

Class-V Full Marks-10
Subject- English Time-20 Mins
Name Roll No. Sec

1. Read the text carefully and answer the following questions :

AL 11:30 ., Hillary and Norgay reached the summit of Mt Everest, Hillary
reached out to shake Norgay's hand, but Norgay gave him a hug in return. The
two men enjoyed only 15 minutes at the top of the world because of their low
oxygen supply. They spent their time taking photographs and enjoing the view,
Norgay placed a lood offering to God, When their 15 minutes were up, Hillary
and Norgay made their way back down the monntain.

A, Tick (/) the correct answer : 1x2=2
i} Hillury and Norgay had low supply of
a) Nitrogen b) Oxygen ¢) Carbondioxide
i) Hillary and Norgay stayed at the top for —
a) 10 minutes b) 20 minutes ¢) 15 minotes

B. ‘Write "T" for True and ‘F for False statements : Ix2=2

i} Norgay placed a food offering to the devil.

i) Both the men enjoved taking photographs.

Grammar
2. A, Classify the following words into Common Nouns and Proper
Nouns : - x2=1
The Everest, Pencil, Train, The (Ganga
Proper Moun Common Noun
B. Write appropriate articles in the following blanks : ixd=2

Once upon — time, there bived —____ ant and
grasshopper in —_ grassy meadow.

Writing
3. Write a short paragraph about "Your Parents’ or "Your loving pet. 3



RAMNAGAR ATUL VIDYALAYA (H.S
First Summative Evaluation-2024

Class-V1 Full Marks-15
Sulject-English Flmie- 30 Ains
Mame Rall Mo Ret.

1. Read the text carefully and answer the following questions :

Bholenath was too frightened to admit his mistake. Bvery one looked questioningly
at Bholenath. In the meantime, the tiger, disturbed and confused by all the people, had
chewed through the rope. It ran away to the jungle. The villagers were relieved.

Bholenath now saw an opportunity to brag,

“It is | who captured the tiger last night. I even pulled its ears,” Bholenath announced
proudly, Everyone marvelled at his bravery. Soon the news of Bholenath's bravery
reached the king. The king was highly impressed. He made Bholenath the Commander-
in-chief of the king's army. Bhalenath and his wife were given a huge house to live in.

Ao Tick (v} the correct alternative : 1=3=3
1Y The tizer had chewed through the —
a) bug b) rope ¢)sack
i}  Bholenath pulled the ... of the dger—
aj claws b} ears ) nose
il Bholenath and his wife were given a —
) house B) garden ¢ tree,

B, Write 'T" for True and "F' Lor False statements Ix2=2

§}  Bholenath was made the general of the king's army.

H) 'The tiger was disturbed by animals of the jungle.

Grrammar
Do as direcied [=3=3

L[¥]
‘s

1) The fleet moves across the ocean, [Rewrile the senfence by correcting
the underlined word]

Ane

ii} The rose is red but beantiful. [Write the anotonym of the underlined
word )

Ans:

mi} She hos singing a song. |Kewrite the sentence by correcting the
snderdined word]

Ans:

B. Make mesningful seplences of vour owi with the following words :
Ix2=2

i) Proudly —

AR pee—



ENG(vi)-2

Writing
Suppose you have experienced a wonderful boat journey. Write a paragraph with
in 60 words describing the journey. You may use the following hints. 5

Date — place of journey — duration of the journey — people who travelled
with you — best moments of the journey.

OR
Ratan Sen Kaveri Sen
(Grand father) (Grand mother)
Sudarshan X Kasturi Snuravl — Ishani
(Driver) , (Maid) {Piumbv.:r}lih-:}mc maker)
| 1
Rohan Pinky Tripti
(College student) (school student) (School student)

Suppose you are Pinky, a school student and Ratan Sen is your grandfather. Now
write a short paragraph in about 60 words using the family chart about your fam-
ily. 5



RANMNAGAR ATUL VIDYALAY A (H.5.)
First Summative Evaluation-2024

Class-¥T1 Full Marks-15
Suhject-English Time-30 Mins
MName Kokl Mo Sec

|, Read the text carefully and answer the questions that {ollow :

Birbal said, "Is that all, vour Majesty? Call vour courtiers {ogether. Let us see
it one of them can answer. If not, then 1 am certain [ ean tell you of the fastest
thing on the planct.

At the King's court, many heard the question that was troubling Akbar. Most
were plzzled Scme said, bullock ircls, others said, "horses, Bul Birbal just
smiled at them.

After everyone had {ailed o satisly Emperor Akbar, Birbal offered 1o answoer
his question. He said, "Your Majesty, it 1s the human mind!’ To prove it, he said,
"Let the people of our kingdom present a problem to me. [ shall show vou how
fust T can solve it wsing the powers of my mind alone”

AL Tick (/) the correct answer : |%2=2
1) The fastest thing on The earth is—

a) bulleck cart b) human mind ¢) horse,
ii) Birbal wanted to solve the problem by using the power of his-

a}legs b) mind ¢} arms
B. Write 'T" for True and ‘F' for False stalements : 1x3=3
i) Only one mun had faited to satisly Fmperor Akbar.[ ]

11) Akbar was deeply troubled by a question.| |
fif)  Birbal was confident to solve the riddle.[ |

Creammar
2. A, Fill in the Blanks with ume]_,'lrintt I'.Iu.'li.'i:!'i.'«ii'h': pronouns and pus-
sessive adjectives : 1%2=1
1§ Yesterday | forgot to take back pen from Sunil.

1) Thatis school
B. Choose the correct form of verbs given in bracket : 1x3=3

il They in the field. [was

plaving, are plaving, plaving]

i) 1 lnder a tree. [was sit,
am sitting, sits)

iii] They in the class [were
singging, is singing, singing]




VII-Eng(2)

Writing
3. Write a letter to your best friend inviting him to your 10th Birthday party.
5
OR

Write a dialogue between two friends on the experience of solving a

riddle. 5



RAMNAGAR ATUL VIDYALAYA (HS))

First Summative Evaluation-2024

Claes= VT Full Marks- 15
Sul|ecl-English Flma-30 S Ems
ime Ruoll No. See

1. Read the texi carcfully and answer the questions that follow :

One day, he had been walking behind the plough. He all but ran over a tiny
green turtle on a clod of dirt. He picked the turtle up and set it on his head where
he knew it would be safe, When he was done with ploughing, Jon plucked the
turtle from his head. To his utter surprise he found that it had turned into a tiny
green-fairy man that stood upon his palm and bowed.

A. {Imnplefe the fnllnwing sentences usi.in!.T| information from the text :
1%2=2

i) Standing upon his palm, the falry Man ... |
ii) Jon wanted to keep the turtle R
B.Tick the correct alternative ; 1x3=3
i) Jon put the turtle on his —
a) back b) head c) hand.
i) Jon found that the turtle had turned into a —
) big groen fuiry b) small black fiy ) tiryy green ficy.
iif} The tiny green turtle was —
a) on the ground b) clod of dirt ¢) on the plough.

LyFaiiiiihar
2. A. Head the fﬂllnwing sentences and identif}r the future continnous
tense and future perfect tense. : 1x3=3

i) She will have recited the poem.
Ans:

ii} Ishall be singing on the stage.
Ang:

fif) They will be visiting our hospital next month.
Ans:

B. Make meaningful sentences with the given words 1x2=2
i) Tiny—

ii) Hand —



VIII-Eng(2)

Writing
Write a short paragraph on “Your Favourite Season’. 5
OR

Write a short story using the following hints. Add a suitable title

Two friends passing through a forest — a bear came — one friend climed a
tree—nther]fjﬂmddidnntknuwhuwtnclimh—l:ftalm—prﬁendedtn
be dead — bear examined closely — thought to be dead — went away. 5
Ans:
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RAMMNAGAR ATUL VIDYALAYA (ILS.)
First Summative Evaluation-2024

Class-1% Foll Marks-40
Sulject-English o= 1 howr 30 Alins
MNamg Rl Ma, Seq.

1. Read the passage carefully and answer the questions that follow :

One moonkit night, we were returning from a festival. The road was long and
foggy. 1 was riding on the village chowkidar’s shoulders. Suddenty, Bhola Grandpa
let out loud wail. Everyone in our party was surprised. We halted. Enquiry revealed
that Bhola Grandps had taken his grandson to the festival. He had tightly held on to
the two fingers of the boy. He did not realize when those fingers slipped out. Bhola
Grandpa was continulng as before. Then someone asked Bhola Grandpa what he was
gripping. He remembered his grandson and let out a loud wall.

A, Tk () the correct answer from the given aliernafives : I=2=2

11 Bholy Grondpa tightly beld on o

whone fnger [ |B) two fingers [ | arm[ | i none [ ).

Hi Bhala Gradpa had taken his _ta the festmeal —
aywite[ | Bison[ | ) grandson[ | d) grand-daughter [ |
B, Complete flhe following senfences : Ind=

i) Ttwas revealed through the enguiry that

i) Someone in the party asked Bhola Grandpa

C.  Answer the following question : 2a1=2
0 Why did Bhola Grandpa waiked?

A

¥

Bead the pocm and answer the questions that follow ;

[ love the (ifull gust that shakes
The cusement all day,
And from the mossy elm - tree tokes
Ihe foded leaves away,
Twirling them by the window pane
With thousand oibers dewn the lane
A, Tiek ) the correct unswer [rom the given sliernatives : 1x2=2
{1 Theword, ‘others indicates

aftrees | | By windows [ | o) lames[ | d) fallen faded leaves [,

i) The word twirling means -

aytwitterimg [ | By mwirmoree] ] o) whiding[ ] ) hewling [ .



A

1% Eng {2}
Answer the following questions 1%2=2

U What does the fitful gust do?
Ans:

i}  What does the fact love?
Ans

Reading Comprehension {Unseen)
Read the passage carefully and answer the questions that follow
KOLKATA : The West Bengal Pollution Control Board {WRPCR) is monitoring
water and afr pollution from 44 large scale industries which have been identified
as grossly polluting.

"We have identificd them and warned them to be compliant after which
action could e taken against them as per the law”, said Kalyan Rudra, WEPCE
chairman, He said they have established a monitoring mechanism for measuring
emission, hquid and solid waste disposal tor the industrics.

The list of 44 most polluiing industries includes those from the leather
industry, ron and steel, paper and jute,

Adopted from The Times of India, dated 03/01/72024

Tick {7) the correct answer from the given alternatives ; 1 =d=4
1] The total number of identified industries is—
4[] mas[ ][] ddz2[]
it}  ‘The monitoring mechanism is sct up for measuring—
a) sound pollution [ ] b) wastes from the industries [ | ) productions
from the industrics[ ] d) none of the above [ ]
i) WBPCH is monitoring—
a) water and air pollution D b} soil and water pollution i:l c) sotind
pollution D d) only water pollution D
i) Which of the following industries is not identified by WRPCR—
a) iron and steel indusrl':.rlj b} leather |ndu5tr1lr'E:| ¢} cottage ind LL'-:II'!.D
d} paper and firte induatr‘_l.rD.
Write True (T} or False (F} against the following statements, Give your

sSUpporting expression : p e |
i) A pood number of large scale industrics have been identified for their

inadequate measure ol pollution.

5.5



IX Eng (3)

ii) Kalyan Rudra is the chairman of the West Bengal Pollution Control

Board.

5.5.

Answer the question : 2
i)  Why has the West Bengal Pollution Control Board set up a monitoring

mechanism?

Ans:
Grammar and Vocabulary
Fill in the blanks with appropriate articles and prepositions : 1%3=3
a moonlit night we started Darjecling
train.
Do as directed : 1x3=3
i) My mother said to me, “May your dreams come true.” (Change into indirect
speech)
Ans:

ii)  The boy is writing a story. (Change the voice)
Ans:

iii) He is too weak to walk fast. (Write the type of the sentence)
Ans:

Given below are the meanings of two words which you will find in the passage
in Question No- 3. Find the words and write them in appropriate boxes.
2x2=4

1}  Accusation

it) Removal of something




7

IX Eng (4)
Writing
Use the following flow chart to write a paragraph within 100 words on how
to prepare orange juice, 10
Oranges bought from the market — sorted — rotten ones removed — cleaned
— peeled — put in juicer — juice extracted — sugar and preservatives added —
poured into bottles — sealed — ready to be sold.
OR

Write a letter to your friend within 100 words narrating your experience of
visiting a circus. 10
Ans:



RAMNAGAR ATUL ¥VIDYALAYA (H.S.)
First Summaltive Evaluation-2024

Class-X Foll Marks-40
Sulject-English o= 1 howr 30 Alins
MNamg Rl Ma, Seq.

L. Read the passage carefully and answer the questions that follow :

Some dayw after the funeral, = special train took Gandhiji's ashes to Allahabad. The
compartment was decked with flowers. People on the train sang bhajans. People did
not weep anymore for they could feel Gandhiji's presence amid the flowers and the
somgs, At every station sorrowful crowds filled the platform. Amid song and prayer the
train reached Allahabad. The ashes were immerned In the Ganges where a huge crowd
had gathered at the bank. Afterwards we all went back to Delhi

A, Tick () the correct answer from the given alternatives ; 1x2=2

i) Peopleon the traim sang -
u) ghazals [ b) folk songs [ ] cb Rabindra Sangeet [ 1 d) bhajans[ ]

iy The compartment was with Howers,
a) decorated [ b Atled [ )¢ covered [ ]d) loaded [ ]
B.  Weite'T for True and "F* for filse stateiments ; 1%2=2

iy Gandhiii's ashes were tmmersed inothe Ganpes on the next dav atter the

mncral |

i) The platform was [led with grie-stricken people at every station.

C, Answer the following question : 2
1 Why did not people weep anvimore?
Amss

[

Read the poem carefully and answer the questions :
The mountain and the squireel
Had a quarrel:
And the former called the latter "Little prig,
fun replied,
“You are doubtless very big:
Hut all sorts of things and weather
Must be taken in together.
T make up a veur
And u sphere.
A, Tick {v) the correct answer from the given alternatives : 1x2=2

11 The mouwniain called the sguirmel —

a) Little Bun [ b) Litthe Prig[] <) Little Rabbit["] J) Little Pi [T}



.

?I-F.ng[ﬂ]
i) What do we need 1o makenp o vear? —
a) few things[ ] by all sortsof things[ ] ¢) Mo things[_] d) none of the
above[ |

Answer the following questions : | [t o
[} Was Bun urrogint in his reply?

Ang;

i) Wha had a quarrel with whom?

Any

Heading Comprehension (Linseen)
Read the passage carefully and answer the gqnestions that follow :
KOLEATA : A rare straun of "Chiness Poeunronda’ - - mveoplazma pocumoniae
has been detected in o 10 years-old giel at the Institute of Child Health n
Kolkata. A resident of Bansdroni in South Kolkata, the child was admitted in
the Mark Cireus hospital on December 25 with complaints of mild respiratory
elistress, fever and cough. On forther investigatfon, doclors detected mycoplisma
poetmonide al the case of Uhe Hlness,
It s referred o as the ‘Chinese Pneumonia’ since the country witnessed a
massive outhreak of the respiratory illness cansed by mypcoplasnia Pneumoniae
in Nowember last vear Doctors at ALNS-Delhi come across this infection in
atleast seven patients, mostly children, a few weelis-ago. The child at the Kolluata
hospital ts responding well to trestment.
[ Adopted from The Thmes of Tndia) dated 07/01/2024

Tick (] the correct answer from the given alternatives : 1=
{)  'lhe girl was the inhabftant of

ol J.!:EhiD h} Kollam |:| cl Hn.r:sclmu.i!j d} Park Lin.":iE]:l
i) The girl was frst admitted at—

a) Delhi AITMS [ ] b) Institute of Child Health in Kalkata [ ] @) Child

fealth carein Kolkata[ ] d) Medical College and Hospital in Kolkata[_]
i)  Minimum number of patients in Delhi, infected by "'Chinese Pnewmonia,

was— a) 7 [ bR ] ed2[] di6[]
w1 Chinese Poenmonia intected mostly—

a) aged persons D b women D o} children D i) dictors D
Write True(T) and False (F) against the following statements. Give the

supporting expressions ¢ sentence : 22y
i) "Chinese Pneumonia” broke out in our country last vear to & great extent.

[ ]



4.A.

X-Eng(3)
5.5.

ii)  The physical condition of the girl became stable to the treatment.
S.5.

Answer the following question : 2x1=2
i) Inwhat physical condition was the girl in Kolkata admitted to the hospital?
Ans :

Grammar and Vocabulary
Fill in the blanks with appropriate articles and prepositions : 1%3=3

My uncle has given his entire property

institution.

Do as directed : 1x3=3
i}  1am to help her. (Change the voice)
Ans:

ii) I know the boy. He helped you. (Join Using Adjective Clause)
Ans:

iii) He is too timid to protest. (omit ‘too’)

Ans:

Given below are the meanings of two words which you will find in the passage
in Question No- 3, Find the words and write them in appropriate boxes,
2x2=4

i)  Not found very often

ii) Identified




X-Eng(4)

Writing
Write a letter to your younger brother (within 100 words) who lives in a hostel
advising him not to be addicted to the social networking sites as Facebook,
whatsapp, Instagram etc. 10
|Points : role of social networking sites — bad eftects — effect on health — wastage
of time — your advice]

OR

Write a paragrph (within 100 words) on “A Journey by Train”. You may use
the following points” 10
[Place of visit — date of journey — name of the train — your experience in the
train — time of reaching — your feeling|.
Ans :
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